
 

 

 

20 €

12 €

20 + 2 × 12 =  44 €

20 + 4 × 12 =  68 €

20 + 10 × 12 =  140 €

𝑥 20 + 𝑥 × 12 = 20 + 12𝑥 €

2 ⟼ 44

10 ⟼ 140

𝑥  𝑥   20 + 12𝑥

𝑥 ⟼ 20 + 12𝑥 𝑥 20 + 12𝑥



 

 

𝑥 20 + 12𝑥

𝑓 𝑓: 𝑥   20 + 12𝑥

𝑓



𝑥

𝑓(𝑥) = 20 + 12𝑥

𝑓(𝑥) 𝑓 𝑥

𝑓 : 10 ⟼ 144 𝑓(10) = 144

𝑥

𝑓(𝑥)

𝑓 

𝑥 

20 + 12𝑥 



 

 

 

𝑓 ⟼

- 𝑓

- 𝑓

Antécédent de 5 Image de 2 



 

 

 

 

𝑓(𝑥) 𝑦

𝑓 𝑓(𝑥) = 5𝑥 − 𝑥2

𝑦 = 5𝑥 − 𝑥2

𝑦 = 𝑓(𝑥).

 

𝑓 𝑓(𝑥) = 𝑥2 + 3𝑥

http://www.geogebra.org/cms/fr


 

 

𝑓 −3 0

−3 0 −3 0

𝑓

𝑥 −∞ −3

0 +∞

𝑓 (𝑥)             +             0         −         0         +


